
What am I ?

Find the dividend and use the letters to answer the riddle

28 ÷ 4 = 7R

÷ 3 = 5G

÷ 3 = 8F

÷ 4 = 4E

÷ 3 = 6D

÷ 4 = 8X

÷ 3 = 4T

÷ 4 = 9C

÷ 3 = 9A

÷ 4 = 0B

÷ 3 = 3I

What do you call a tiger with 3 eyes ?

27 12 9 9 9 15 16 28



What am I ?

Math in English

Find the dividend and use the letters to answer the riddle

28 ÷ 4 = 7R

15 ÷ 3 = 5G

24 ÷ 3 = 8F

16 ÷ 4 = 4E

18 ÷ 3 = 6D

32 ÷ 4 = 8X

12 ÷ 3 = 4T

36 ÷ 4 = 9C

27 ÷ 3 = 9A

0 ÷ 4 = 0B

9 ÷ 3 = 3I

What do you call a tiger with 3 eyes ?
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